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explain plan for

select /*+ INDEX(D pk_dept name) INDEX(E pk_emp name) */

*

from emp E, dept D

where E.deptno = D.deptno and E.empno = 1;

@?/rdbms/admin/utlxpls.sql

PLAN_TABLE_OUTPUT

| Id | Operation | Name | Rows | Cost |
| 0| SELECT STATEMENT | | 1] 4]
| 1] NESTED LOOPS | | | |
| 2] NESTED LOOPS | | 1] 4]
| 3] TABLE ACCESS BY INDEX ROWID | EMP | 1] 2]
[* 4| INDEX RANGE SCAN | PK_ EMP_NAME | 1| 1]
[* 5| INDEX RANGE SCAN | PK_DEPT NAME| 1 | 1]
| 6| TABLEACCESS BY INDEX ROWID | DEPT | 21 2]

4 - access("E"."EMPNO"=1)
5 - access("E"."DEPTNO"="D"."DEPTNQ")



